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He surely abandons them — 3% PR IMPER

OVERVIEW

N 92 »1 resolved the query whether 19117 is 21 or Mwd, from our 7wn which
states that by 2"772 1w (even though it is MWD, nevertheless) 7n NHPWK N°IN1 OK)
mamw. It is considered 10m R (to the m7°o77 Hv2) even though they are eaten up,
because we assume that when someone leaves his NM17°9 in a 7"7717 he is pon them.'
mooIn will qualify this assumption.

— DA URMHN KON ‘DU KY N%3MIY N1 IPON 19 DNT 39109 XY
The owner is not 7°’Pon the M7"® completely, for if indeed he is 7°pon them
completely the %727 9v2 should not pay even naamaw 17, but rather he despairs
from retrieving them -
193 *nm 519 “Nias XYW 1y B19YY DYDY B339 HNNN HPYPNIY Moy
For the owner assumes that since many tread upon them, the n17°d will be
ruined, to the extent that they will not be worth any more than the value of
noamIw.

SUMMARY
The X773, when it states 17772 2°p57 "IP9R, means that he is WX>n» but not 2pon.

THINKING IT OVER
1. According to 11""27 why is it that if he was wX>nn from the entire v (and there
1s no 1on at all) there would be no 211 at all;7 however in the case of a X>7 ¥R

!'See vpon 17"7 >"wA.
2 If the owner is 7°pon the M7 (even implicitly) they have no owner, and anyone can take them and keep them.
There is no cause for the (original owner) to be paid even N°17w 7n, since it no longer belonged to him.
3 On one hand he is not 7°pon them (therefore it still belongs to the owner), on the other hand he assumes that it will
be ruined (so he is not a 10om, because he anticipated this loss). He did not, however, assume that it would become
totally worthless (but rather it could be worth even less than n°13771w 7). See footnote # 5 & 6.
* Others (see 0"7An) amend this to read n7> X9R W12,
° "2 is proving from our 7awn (where it states N°3A3w 7 NRoWn) that 1">Mr is 2°m; even though the 7on &> did not
suffer a loss, the 73771 must pay for his 7X377. In the case of the 71wn the owner assumes that his M17" (which are worth
now $100) will be worth (even) less than n>171w 7 (let us assume that the n°3mw 77 is $30, and the owner assumes
that it will be worth $10). The fact that the 727277 2v2 must pay n°1mw 1n ($30) even though the loss to the owner is
only $10 (for that is what he assumed his m7® will be worth); the extra $20 that the 7n727 5¥1 is paying is a
payment for n1"1111, this proves that n">mir is 21, See ‘Thinking it over’ # 2.
® Had the owner assumed that it would be totally worthless (see footnote # 3), then there would be no 2117 even for
nmw an. See w"RY owa p''nuw. See “Thinking it over # 1.
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XIAR? ¥1°°p (where the owner is not a 70m at all) we are not certain whether he has
to pay or not?!®

2. The law concerning n'"71ar is that if there is a slight qon, then the 7171 must pay
for his entire 7X37 (even if it is more than the q0m).” In the case of MITW 1 NN,
since there is a slight 7on for the m°071 %¥3,'"" it cannot be considered a case of
n"%1ar; how can n"27 prove anything from our 7w (where he is 0m) to the query
of n'"mar, where there is no 2o at all?!"!

3. In the abovementioned case (where he is N°I7Iw 77 7% W12 RHW 7V WRNK), and
someone destroyed the M17°8 (but did not derive any benefit from it); how much is
he required to pay?'?

7 See footnote # 6.
8 See Hax 7"7 30 MK 92,
? See a7 "7 R,X2 "0,
10°See footnote # 5.
'See o9 11"7 2" MIX 292
12 See 1 7"7 3"D X 292,
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